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Common Ashkenaz text
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!5'?-‘_1 MNNT These lights we kindle upon the miracles, the won.

ders,* the salvations, and the battles which you
performed for our forefathers in those days at this season through
Your holy priests. During all eight days of Chanukah these lights are
sacred, and we are not permitted to make ordinary use of them,* but to
look at them in order to express thanks and praise to Your great Name*
for Your miracles, Your wonders and Your salvations.

Where does it come from?
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Do the o°nwxn bring it?
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Not everyone has it
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Why would you say it after? Why would you say it before?
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But what about the o>1910 noon?!
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What could be an explanation of the a>7910 noon?
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Insights into some of the words
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#1: mx>01- what is it? Why do we mention it here?
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Why do we mention nyann here?

Why do we not mention 395 and n123 here?




o7 wnp: Are they?
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